

**Some new relations between sums of squares and triangular numbers**

by

OLIVIA YAOXIANG MEI<sup>(1)</sup>, FANGHOU QING<sup>(2)</sup>, FAN YAN<sup>(3)</sup>, ZHANG YAN<sup>(4)</sup>

**Abstract**

Let  $T(a_1, a_2, a_3, a_4; n)$  denote the number of representations of  $n$  as  $a_1 \frac{x_1(x_1+1)}{2} + a_2 \frac{x_2(x_2+1)}{2} + a_3 \frac{x_3(x_3+1)}{2} + a_4 \frac{x_4(x_4+1)}{2}$ , where  $a_1, a_2, a_3, a_4$  are positive integers,  $n, x_1, x_2, x_3, x_4$  are arbitrary nonnegative integers, and let  $N(a_1, a_2, a_3, a_4; n)$  denote the number of representations of  $n$  as  $a_1x_1^2 + a_2x_2^2 + a_3x_3^2 + a_4x_4^2$ , where this time  $x_1, x_2, x_3, x_4$  are integers. In a recent paper, Sun not only discovered many relations between  $T(a_1, a_2, a_3, a_4; n)$  and  $N(a_1, a_2, a_3, a_4; n)$ , but also posed a number of conjectures on the relations between  $T(a_1, a_2, a_3, a_4; n)$  and  $N(a_1, a_2, a_3, a_4; n)$ . In this paper, we confirm some of Sun's conjectures by using Ramanujan's theta function identities and  $(p, k)$ -parametrization of theta functions.

**Key Words:** Ramanujan's theta function identities, sum of squares, sum of triangular numbers.

**2010 Mathematics Subject Classification:** Primary 11D85; Secondary 11E25.

## 1 Introduction

In this paper, we always let  $\mathbb{N}^+, \mathbb{N}$  and  $\mathbb{Z}$  denote the set of positive integers, the set of non-negative integers and the set of integers, respectively. The aim of this paper is to confirm a number of conjectures on the relations between  $T(a_1, a_2, a_3, a_4; n)$  and  $N(a_1, a_2, a_3, a_4; n)$  by utilizing Ramanujan's theta function identities and  $(p, k)$ -parametrization of theta functions, where  $a_1, a_2, a_3, a_4 \in \mathbb{N}^+, n \in \mathbb{N}$  and  $T(a_1, a_2, a_3, a_4; n)$  and  $N(a_1, a_2, a_3, a_4; n)$  are defined by

$$T(a_1, a_2, a_3, a_4; n) := \# \left\{ (x_1, x_2, x_3, x_4) \in \mathbb{N}^4 \mid a_1 \frac{x_1^2 + x_1}{2} + a_2 \frac{x_2^2 + x_2}{2} + a_3 \frac{x_3^2 + x_3}{2} + a_4 \frac{x_4^2 + x_4}{2} = n \right\} \quad (1.1)$$

and

$$N(a_1, a_2, a_3, a_4; n) := \# \left\{ (x_1, x_2, x_3, x_4) \in \mathbb{Z}^4 \mid a_1x_1^2 + a_2x_2^2 + a_3x_3^2 + a_4x_4^2 = n \right\}. \quad (1.2)$$

As usual, set  $N(a_1, a_2, a_3, a_4; 0) = T(a_1, a_2, a_3, a_4; 0) = 1$ .

In recent years, the relations between  $N(a_1, a_2, a_3, a_4; n)$  and  $T(a_1, a_2, a_3, a_4; n)$  have received a lot of attention. Recently, Wang and Sun [9] revealed new connections between  $T(a_1, a_2, a_3, a_4; n)$  and  $N(a_1, a_2, a_3, a_4; 8n + a_1 + a_2 + a_3 + a_4)$ . Sun [5] also posed 23

conjectures on the relations between  $N(a_1, a_2, a_3, a_4; n)$  and  $T(a_1, a_2, a_3, a_4; n)$ . Some of these conjectures were confirmed by Xia and Zhong [11]. Very recently, Sun [8] not only proved a number of formulas between  $N(a_1, a_2, a_3, a_4; n)$  and  $T(a_1, a_2, a_3, a_4; n)$ , but also posed many conjectures. For more details, see for example [2, 6, 7, 10].

In this paper, employing Ramanujan's theta function identities and  $(p, k)$ -parametrization of theta functions, we will confirm some of the conjectures due to Sun [8]. The following formulas were conjectured by Sun [8].

**Theorem 1.** For  $n \in \mathbb{N}$ ,

$$13T(1, 3, 9, 27; 8n + 7) = N(1, 3, 9, 27; 16n + 24), \quad (1.3)$$

$$12T(1, 2, 3, 18; 4n + 4) = N(1, 2, 3, 18; 8n + 14), \quad (1.4)$$

$$36T(1, 2, 3, 18; 4n + 4) = N(1, 2, 3, 18; 32n + 56), \quad (1.5)$$

$$6T(1, 2, 3, 18; 8n + 3) = N(1, 2, 3, 18; 16n + 12), \quad (1.6)$$

$$4T(1, 2, 3, 18; 12n + 6) = N(1, 2, 3, 18; 24n + 18), \quad (1.7)$$

$$10T(1, 2, 3, 18; 24n + 15) = N(1, 2, 3, 18; 48n + 36), \quad (1.8)$$

$$12T(1, 3, 18, 18; 4n + 2) = N(1, 3, 18, 18; 8n + 14), \quad (1.9)$$

$$36T(1, 3, 18, 18; 4n + 2) = N(1, 3, 18, 18; 32n + 56), \quad (1.10)$$

$$6T(1, 3, 18, 18; 8n + 1) = N(1, 3, 18, 18; 16n + 12), \quad (1.11)$$

$$30T(1, 3, 18, 18; 8n + 1) = N(1, 3, 18, 18; 64n + 48), \quad (1.12)$$

$$9T(1, 3, 18, 18; 16n + 7) = N(1, 3, 18, 18; 32n + 24), \quad (1.13)$$

$$33T(1, 3, 18, 18; 16n + 7) = N(1, 3, 18, 18; 128n + 96), \quad (1.14)$$

$$4T(1, 3, 18, 18; 12n + 4) = N(1, 3, 18, 18; 24n + 18), \quad (1.15)$$

$$28T(1, 3, 18, 18; 12n + 4) = N(1, 3, 18, 18; 96n + 72), \quad (1.16)$$

$$10T(1, 3, 18, 18; 24n + 13) = N(1, 3, 18, 18; 48n + 36), \quad (1.17)$$

$$34T(1, 3, 18, 18; 24n + 13) = N(1, 3, 18, 18; 192n + 144), \quad (1.18)$$

$$12T(2, 3, 9, 18; 4n + 3) = N(2, 3, 9, 18; 8n + 14), \quad (1.19)$$

$$36T(2, 3, 9, 18; 4n + 3) = N(2, 3, 9, 18; 32n + 56), \quad (1.20)$$

$$6T(2, 3, 9, 18; 8n + 2) = N(2, 3, 9, 18; 16n + 12), \quad (1.21)$$

$$9T(2, 3, 9, 18; 16n + 8) = N(2, 3, 9, 18; 32n + 24), \quad (1.22)$$

$$15T(2, 3, 9, 18; 32n + 20) = 2N(2, 3, 9, 18; 64n + 48), \quad (1.23)$$

$$10T(2, 3, 9, 18; 24n + 14) = N(2, 3, 9, 18; 48n + 36), \quad (1.24)$$

$$4T(2, 3, 9, 18; 12n + 5) = N(2, 3, 9, 18; 24n + 18), \tag{1.25}$$

$$8T(1, 6, 9, 12; 4n + 2) = N(1, 6, 9, 12; 8n + 11), \tag{1.26}$$

$$8T(1, 6, 9, 12; 4n + 3) = N(1, 6, 9, 12; 8n + 13), \tag{1.27}$$

$$4T(1, 6, 8, 9; 8n + 3) = N(1, 6, 8, 9; 16n + 12), \tag{1.28}$$

$$6T(2, 2, 3, 9; 8n + 4) = N(2, 2, 3, 9; 16n + 12), \tag{1.29}$$

$$12T(1, 6, 9, 24; 8n + 7) = N(1, 6, 9, 24; 16n + 24). \tag{1.30}$$

## 2 Preliminaries

Recall that the well-known Jacobi triple product identity is

$$\sum_{n=-\infty}^{\infty} z^n q^{n^2} = (-qz; q^2)_{\infty} (-q/z; q^2)_{\infty} (q^2; q^2)_{\infty}, \quad z \neq 0, \tag{2.1}$$

where

$$(a; q)_{\infty} = \prod_{n=0}^{\infty} (1 - aq^n), \quad |q| < 1.$$

By (2.1), the Ramanujan theta functions  $\varphi(q)$  and  $\psi(q)$  can be represented as products

$$\varphi(q) := \sum_{n=-\infty}^{\infty} q^{n^2} = \frac{f_2^5}{f_1^2 f_4^2}, \tag{2.2}$$

$$\psi(q) := \sum_{n=0}^{\infty} q^{n(n+1)/2} = \frac{f_2^2}{f_1}, \tag{2.3}$$

where here and throughout this paper, for any positive integer  $k$ ,

$$f_k = (q^k; q^k)_{\infty}.$$

The generating function for  $T(a_1, a_2, a_3, a_4; n)$  and  $N(a_1, a_2, a_3, a_4; n)$  are

$$\sum_{n=0}^{\infty} T(a_1, a_2, a_3, a_4; n)q^n = \psi(q^{a_1})\psi(q^{a_2})\psi(q^{a_3})\psi(q^{a_4}), \tag{2.4}$$

and

$$\sum_{n=0}^{\infty} N(a_1, a_2, a_3, a_4; n)q^n = \varphi(q^{a_1})\varphi(q^{a_2})\varphi(q^{a_3})\varphi(q^{a_4}). \tag{2.5}$$

In order to prove the main results of this paper, we require some Ramanujan's theta function identities.

**Lemma 1.** *The following 2-dissection formulas hold:*

$$\varphi(q) = \varphi(q^4) + 2q\psi(q^8), \quad (2.6)$$

$$\varphi(q)^2 = \varphi(q^2)^2 + 4q\psi(q^4)^2, \quad (2.7)$$

$$\psi(q)^2 = \psi(q^2)\varphi(q^4) + 2q\psi(q^2)\psi(q^8), \quad (2.8)$$

$$\psi(q)\psi(q^3) = \psi(q^4)\varphi(q^6) + q\varphi(q^2)\psi(q^{12}), \quad (2.9)$$

$$\varphi(q)\varphi(q^3) = \varphi(q^4)\varphi(q^{12}) + 2q\psi(q^2)\psi(q^6) + 4q^4\psi(q^8)\psi(q^{24}), \quad (2.10)$$

$$\frac{1}{f_1^2} = \frac{f_8^5}{f_2^5 f_{16}^2} + 2q \frac{f_4^2 f_{16}^2}{f_2^5 f_8}, \quad (2.11)$$

$$\frac{1}{f_1^4} = \frac{f_4^{14}}{f_2^{14} f_8^4} + 4q \frac{f_4^2 f_8^4}{f_2^{10}}, \quad (2.12)$$

$$\frac{f_3}{f_1^3} = \frac{f_4^6 f_6^3}{f_2^9 f_{12}^2} + 3q \frac{f_4^2 f_6 f_{12}^2}{f_7^2}, \quad (2.13)$$

$$\frac{1}{f_1 f_3} = \frac{f_8^2 f_{12}^5}{f_2^2 f_4 f_6^4 f_{24}^2} + q \frac{f_4^5 f_{24}^2}{f_2^4 f_6^2 f_8^2 f_{12}}, \quad (2.14)$$

$$\frac{f_3^3}{f_1} = \frac{f_4^3 f_6^2}{f_2^2 f_{12}} + q \frac{f_{12}^3}{f_4}, \quad (2.15)$$

$$\frac{f_3}{f_1} = \frac{f_4 f_6 f_{16} f_{24}^2}{f_2^2 f_8 f_{12} f_{48}} + q \frac{f_6 f_8^2 f_{48}}{f_2^2 f_{16} f_{24}}, \quad (2.16)$$

$$\frac{f_3^2}{f_1^2} = \frac{f_4^4 f_6 f_{12}^2}{f_2^5 f_8 f_{24}} + 2q \frac{f_4 f_6^2 f_8 f_{24}}{f_2^4 f_{12}}. \quad (2.17)$$

*Proof.* Identities (2.6) and (2.7) follow from (1.9.4) and (1.10.1) on page 14 in Hirschhorn's book [4]. By (2.2) and (2.3),

$$\psi(q)^2 = \varphi(q)\psi(q^2). \quad (2.18)$$

Identity (2.8) follows from (2.6) and (2.18). Identity (2.9) follows from [4, p.219, (25.2.1)]. Identity (2.10) follows from (25.2.2) and (25.2.4) on page 219 in Hirschhorn's book [4]. Identity (2.11) is equivalent to (2.6) and identity (2.12) is equivalent to (2.7). Replacing  $q$  by  $-q$  in [4, (22.7.3)] yields (2.13). Identity (2.14) is equivalent to (2.9) and identity (2.15) follows from [4, p.196, (22.7.5)]. Identities (2.16) and (2.17) follow from (30.10.3) and (30.10.4) in [4].  $\square$

**Lemma 2.** *The following 3-dissection formulas are true:*

$$\psi(q) = \frac{f_6 f_9^2}{f_3 f_{18}} + q\psi(q^9), \quad (2.19)$$

$$\varphi(q) = \varphi(q^9) + 2q \frac{f_6^2 f_9 f_{36}}{f_3 f_{12} f_{18}}. \tag{2.20}$$

Identities (2.19) and (2.20) follow from Corollary (i) and (ii) on page 49 in Berndt’s book [3].

At last, we need the following  $(p, k)$ -parametrization of theta functions.

**Lemma 3.** *We have*

$$q^{\frac{1}{24}} f_1 = 2^{-\frac{1}{6}} p^{\frac{1}{24}} (1-p)^{\frac{1}{2}} (1+p)^{\frac{1}{6}} (1+2p)^{\frac{1}{8}} (2+p)^{\frac{1}{8}} k^{\frac{1}{2}}, \tag{2.21}$$

$$q^{\frac{1}{12}} f_2 = 2^{-\frac{1}{3}} p^{\frac{1}{12}} (1-p)^{\frac{1}{4}} (1+p)^{\frac{1}{12}} (1+2p)^{\frac{1}{4}} (2+p)^{\frac{1}{4}} k^{\frac{1}{2}}, \tag{2.22}$$

$$q^{\frac{1}{8}} f_3 = 2^{-\frac{1}{6}} p^{\frac{1}{8}} (1-p)^{\frac{1}{6}} (1+p)^{\frac{1}{2}} (1+2p)^{\frac{1}{24}} (2+p)^{\frac{1}{24}} k^{\frac{1}{2}}, \tag{2.23}$$

$$q^{\frac{1}{6}} f_4 = 2^{-2/3} p^{\frac{1}{6}} (1-p)^{\frac{1}{8}} (1+p)^{\frac{1}{24}} (1+2p)^{\frac{1}{8}} (2+p)^{\frac{1}{2}} k^{\frac{1}{2}}, \tag{2.24}$$

$$q^{\frac{1}{4}} f_6 = 2^{-\frac{1}{3}} p^{\frac{1}{4}} (1-p)^{\frac{1}{12}} (1+p)^{\frac{1}{4}} (1+2p)^{\frac{1}{12}} (2+p)^{\frac{1}{12}} k^{\frac{1}{2}}, \tag{2.25}$$

$$q^{\frac{1}{2}} f_{12} = 2^{-2/3} p^{\frac{1}{2}} (1-p)^{\frac{1}{24}} (1+p)^{\frac{1}{8}} (1+2p)^{\frac{1}{24}} (2+p)^{\frac{1}{6}} k^{\frac{1}{2}}, \tag{2.26}$$

where

$$p := p(q) = \frac{\varphi^2(q) - \varphi^2(q^3)}{2\varphi^2(q^3)} \quad k := k(q) = \frac{\varphi^3(q^3)}{\varphi(q)}.$$

Identities (2.21)–(2.26) follow from (2.14)–(2.19) in [1].

### 3 Proof of Theorem 1

In this section, we are ready to prove Theorem 1. We only present a proof of (1.30). The rest can be proved similarly by using Lemmas 1–3, so we omit the details. In order to prove (1.30), it suffices to prove (1.30) holds when  $n \equiv 0, 1, 2 \pmod{3}$ , namely,

$$12T(1, 6, 9, 24; 24n + 7) = N(1, 6, 9, 24; 48n + 24), \tag{3.1}$$

$$12T(1, 6, 9, 24; 24n + 15) = N(1, 6, 9, 24; 48n + 40), \tag{3.2}$$

$$12T(1, 6, 9, 24; 24n + 23) = N(1, 6, 9, 24; 48n + 56). \tag{3.3}$$

In order to prove (3.1)–(3.3), we first define an operator. For integers  $0 \leq b < a$  and a power series  $\sum_{n=-\infty}^{\infty} s(n)q^n$ , define an operator  $U_{a,b}$  as

$$U_{a,b} \left( \sum_{n=-\infty}^{\infty} s(n)q^n \right) = \sum_{n=-\infty}^{\infty} s(an + b)q^n.$$

By (2.5),

$$\sum_{n=0}^{\infty} N(1, 6, 9, 24; n)q^n = \varphi(q)\varphi(q^6)\varphi(q^9)\varphi(q^{24}). \tag{3.4}$$

It follows from (2.6) and (3.4) that

$$\begin{aligned}
& \sum_{n=0}^{\infty} N(1, 6, 9, 24; 2n)q^n \\
&= U_{2,0} \left( \sum_{n=0}^{\infty} N(1, 6, 9, 24; n)q^n \right) = U_{2,0} (\varphi(q)\varphi(q^6)\varphi(q^9)\varphi(q^{24})) \\
&= \varphi(q^3)\varphi(q^{12})U_{2,0} ((\varphi(q^4) + 2q\psi(q^8)) (\varphi(q^{36}) + 2q^9\psi(q^{72}))) \\
&= \varphi(q^3)\varphi(q^{12})U_{2,0} (\varphi(q^4)\varphi(q^{36}) + 2q\psi(q^8)\varphi(q^{36}) + 2q^9\varphi(q^4)\psi(q^{72}) + 4q^{10}\psi(q^8)\psi(q^{72})) \\
&= 4q^5\varphi(q^3)\psi(q^4)\varphi(q^{12})\psi(q^{36}) + \varphi(q^2)\varphi(q^3)\varphi(q^{12})\varphi(q^{18}). \tag{3.5}
\end{aligned}$$

In view of (2.6) and (3.5),

$$\begin{aligned}
\sum_{n=0}^{\infty} N(1, 6, 9, 24; 4n)q^n &= U_{2,0} \left( \sum_{n=0}^{\infty} N(1, 6, 9, 24; 2n)q^n \right) \\
&= U_{2,0} (4q^5\varphi(q^3)\psi(q^4)\varphi(q^{12})\psi(q^{36}) + \varphi(q^2)\varphi(q^3)\varphi(q^{12})\varphi(q^{18})) \\
&= 4\psi(q^2)\varphi(q^6)\psi(q^{18})U_{2,0} (q^5\varphi(q^3)) + \varphi(q)\varphi(q^6)\varphi(q^9)U_{2,0} (\varphi(q^3)) \\
&= 4\psi(q^2)\varphi(q^6)\psi(q^{18})U_{2,0} (q^5\varphi(q^{12}) + 2q^8\psi(q^{24})) \\
&\quad + \varphi(q)\varphi(q^6)\varphi(q^9)U_{2,0} (\varphi(q^{12}) + 2q^3\psi(q^{24})) \\
&= 8q^4\psi(q^2)\varphi(q^6)\psi(q^{12})\psi(q^{18}) + \varphi(q)\varphi(q^6)^2\varphi(q^9). \tag{3.6}
\end{aligned}$$

Thanks to (2.6) and (3.6),

$$\begin{aligned}
\sum_{n=0}^{\infty} N(1, 6, 9, 24; 8n)q^n &= U_{2,0} \left( \sum_{n=0}^{\infty} N(1, 6, 9, 24; 4n)q^n \right) \\
&= U_{2,0} (8q^4\psi(q^2)\varphi(q^6)\psi(q^{12})\psi(q^{18}) + \varphi(q)\varphi(q^6)^2\varphi(q^9)) \\
&= 8q^2\psi(q)\varphi(q^3)\psi(q^6)\psi(q^9) + \varphi(q^3)^2U_{2,0} (\varphi(q)\varphi(q^9)) \\
&= 8q^2\psi(q)\varphi(q^3)\psi(q^6)\psi(q^9) \\
&\quad + \varphi(q^3)^2U_{2,0} (\varphi(q^4)\varphi(q^{36}) + 2q\psi(q^8)\varphi(q^{36}) + 2q^9\varphi(q^4)\psi(q^{72}) + 4q^{10}\psi(q^8)\psi(q^{72})) \\
&= 4q^5\varphi(q^3)^2\psi(q^4)\psi(q^{36}) + 8q^2\psi(q)\varphi(q^3)\psi(q^6)\psi(q^9) + \varphi(q^2)\varphi(q^3)^2\varphi(q^{18}). \tag{3.7}
\end{aligned}$$

Based on (2.18),

$$\psi(q)\varphi(q^3)\psi(q^6)\psi(q^9) = \psi(q)\psi(q^3)^2\psi(q^9). \tag{3.8}$$

Combining (3.7) and (3.8) yields

$$\sum_{n=0}^{\infty} N(1, 6, 9, 24; 8n)q^n = 4q^5\varphi(q^3)^2\psi(q^4)\psi(q^{36}) + 8q^2\psi(q)\psi(q^3)^2\psi(q^9) + \varphi(q^2)\varphi(q^3)^2\varphi(q^{18}). \tag{3.9}$$

In light of (2.7), (2.9) and (3.9),

$$\begin{aligned} \sum_{n=0}^{\infty} N(1, 6, 9, 24; 16n + 8)q^n &= U_{2,1} \left( \sum_{n=0}^{\infty} N(1, 6, 9, 24; 8n)q^n \right) \\ &= 4q^2\psi(q^2)\psi(q^{18})U_{2,0}(\varphi(q^3)^2) + 8qU_{2,1}(\psi(q)\psi(q^3)^2\psi(q^9)) + \varphi(q)\varphi(q^9)U_{2,1}(\varphi(q^3)^2) \\ &= 4q^2\psi(q^2)\psi(q^{18})U_{2,0}(\varphi(q^6)^2 + 4q^3\psi(q^{12})^2) \\ &\quad + 8qU_{2,1}((\psi(q^4)\varphi(q^6) + q\varphi(q^2)\psi(q^{12}))(\psi(q^{12})\varphi(q^{18}) + q^3\varphi(q^6)\psi(q^{36}))) \\ &\quad + \varphi(q)\varphi(q^9)U_{2,1}(\varphi(q^6)^2 + 4q^3\psi(q^{12})^2) \\ &= 12q^2\psi(q^2)\varphi(q^3)^2\psi(q^{18}) + 12q\varphi(q)\psi(q^6)^2\varphi(q^9). \end{aligned} \tag{3.10}$$

Substituting (2.19) and (2.20) in (3.10) yields

$$\begin{aligned} \sum_{n=0}^{\infty} N(1, 6, 9, 24; 16n + 8)q^n &= 12q^2\varphi(q^3)^2\psi(q^{18}) \left( \frac{f_{12}f_{18}^2}{f_6f_{36}} + q^2\psi(q^{18}) \right) \\ &\quad + 12q\psi(q^6)^2\varphi(q^9) \left( \varphi(q^9) + 2q \frac{f_6^2f_9f_{36}}{f_3f_{12}f_{18}} \right) \\ &= 12q^4\varphi(q^3)^2\psi(q^{18})^2 + 24q^2\psi(q^6)^2\varphi(q^9) \frac{f_6^2f_9f_{36}}{f_3f_{12}f_{18}} \\ &\quad + 12q^2\varphi(q^3)^2\psi(q^{18}) \frac{f_{12}f_{18}^2}{f_6f_{36}} + 12q\psi(q^6)^2\varphi(q^9)^2, \end{aligned}$$

which implies that

$$\sum_{n=0}^{\infty} N(1, 6, 9, 24; 48n + 8)q^n = 0, \tag{3.11}$$

$$\sum_{n=0}^{\infty} N(1, 6, 9, 24; 48n + 24)q^n = 12q\varphi(q)^2\psi(q^6)^2 + 12\psi(q^2)^2\varphi(q^3)^2, \tag{3.12}$$

$$\sum_{n=0}^{\infty} N(1, 6, 9, 24; 48n + 40)q^n = 24\psi(q^2)^2\varphi(q^3) \frac{f_2^2f_3f_{12}}{f_1f_4f_6} + 12\varphi(q)^2\psi(q^6) \frac{f_4f_6^2}{f_2f_{12}}. \tag{3.13}$$

In view of (2.4),

$$\sum_{n=0}^{\infty} T(1, 6, 9, 24; n)q^n = \psi(q)\psi(q^6)\psi(q^9)\psi(q^{24}). \tag{3.14}$$

Substituting (2.19) into (3.14), we arrive at

$$\begin{aligned} \sum_{n=0}^{\infty} T(1, 6, 9, 24; n)q^n &= \psi(q^6)\psi(q^9)\psi(q^{24}) \left( \frac{f_6 f_9^2}{f_3 f_{18}} + q\psi(q^9) \right) \\ &= \psi(q^6)\psi(q^9)\psi(q^{24}) \frac{f_6 f_9^2}{f_3 f_{18}} + q\psi(q^6)\psi(q^9)^2\psi(q^{24}), \end{aligned}$$

which implies

$$\sum_{n=0}^{\infty} T(1, 6, 9, 24; 3n)q^n = \frac{f_2 f_3^2}{f_1 f_6} \psi(q^2)\psi(q^3)\psi(q^8), \quad (3.15)$$

$$\sum_{n=0}^{\infty} T(1, 6, 9, 24; 3n+1)q^n = \psi(q^2)\psi(q^3)^2\psi(q^8), \quad (3.16)$$

$$\sum_{n=0}^{\infty} T(1, 6, 9, 24; 3n+2)q^n = 0. \quad (3.17)$$

Identity (3.3) follows from (3.11) and (3.17).

By (2.8) and (3.16),

$$\begin{aligned} \sum_{n=0}^{\infty} T(1, 6, 9, 24; 6n+1)q^n &= U_{2,0}(T(1, 6, 9, 24; 3n+1)q^n) = U_{2,0}(\psi(q^2)\psi(q^3)^2\psi(q^8)) \\ &= \psi(q)\psi(q^4)U_{2,0}(\psi(q^3)^2) = \psi(q)\psi(q^3)\psi(q^4)\varphi(q^6). \end{aligned} \quad (3.18)$$

Thanks to (2.9) and (3.18),

$$\begin{aligned} \sum_{n=0}^{\infty} T(1, 6, 9, 24; 12n+7)q^n &= U_{2,1}(T(1, 6, 9, 24; 6n+1)q^n) = U_{2,1}(\psi(q)\psi(q^3)\psi(q^4)\varphi(q^6)) \\ &= \psi(q^2)\varphi(q^3)U_{2,1}(\psi(q)\psi(q^3)) = \varphi(q)\psi(q^2)\varphi(q^3)\psi(q^6). \end{aligned} \quad (3.19)$$

In view of (2.10) and (3.19),

$$\begin{aligned} \sum_{n=0}^{\infty} T(1, 6, 9, 24; 24n+7)q^n &= U_{2,0}(T(1, 6, 9, 24; 12n+7)q^n) = U_{2,0}(\varphi(q)\psi(q^2)\varphi(q^3)\psi(q^6)) \\ &= \psi(q)\psi(q^3)U_{2,0}(\varphi(q)\varphi(q^3)) \\ &= \psi(q)\varphi(q^2)\psi(q^3)\varphi(q^6) + 4q^2\psi(q)\psi(q^3)\psi(q^4)\psi(q^{12}). \end{aligned} \quad (3.20)$$

In light of (2.2), (2.3), (3.12) and (3.20),

$$12 \sum_{n=0}^{\infty} T(1, 6, 9, 24; 24n+7)q^n - \sum_{n=0}^{\infty} N(1, 6, 9, 24; 48n+24)q^n$$



$$\begin{aligned}
 &= 48q^2\psi(q)\psi(q^3)\psi(q^4)\psi(q^{12}) - 12q\varphi(q)^2\psi(q^6)^2 + 12\psi(q)\varphi(q^2)\psi(q^3)\varphi(q^6) - 12\psi(q^2)^2\varphi(q^3)^2 \\
 &= 12\frac{F_1(q)}{f_1f_3}, \tag{3.21}
 \end{aligned}$$

where

$$F_1(q) = 4q^2\frac{f_2^2f_6^2f_8^2f_{24}^2}{f_4f_{12}} - q\frac{f_3}{f_1^3} \cdot \frac{f_2^{10}f_{12}^4}{f_4^4f_6^2} + \frac{f_4^5f_{12}^5}{f_8^2f_{24}^2} - \frac{f_1}{f_3^3} \cdot \frac{f_4^4f_6^{10}}{f_2^2f_{12}^4}. \tag{3.22}$$

Replacing  $q$  by  $-q$  in (2.15) yields

$$\frac{f_1}{f_3^3} = \frac{f_2f_4^2f_{12}^2}{f_6^7} - q\frac{f_2^3f_{12}^6}{f_4^2f_6^9}. \tag{3.23}$$

Substituting (2.13) and (3.23) into (3.22), we deduce that

$$F_1(q) = F_2(q^2), \tag{3.24}$$

where

$$F_2(q) = 4q\frac{f_1^2f_3^2f_4^2f_{12}^2}{f_2f_6} - 3q\frac{f_1^3f_6^6}{f_2^2f_3} + \frac{f_2^5f_6^5}{f_4^2f_{12}^2} - \frac{f_2^6f_3^3}{f_1f_6^6}. \tag{3.25}$$

Substituting (2.21)–(2.26) into (3.25), we arrive at

$$F_2(q) = 0$$

and therefore,

$$F_1(q) = 0. \tag{3.26}$$

By (3.21) and (3.26),

$$12\sum_{n=0}^{\infty} T(1, 6, 9, 24; 24n + 7)q^n = \sum_{n=0}^{\infty} N(1, 6, 9, 24; 48n + 24)q^n, \tag{3.27}$$

which yields (3.1).

At last, we turn to prove (3.2).

By (2.3), we rewrite (3.15) as

$$\sum_{n=0}^{\infty} T(1, 6, 9, 24; 3n)q^n = \frac{f_3f_4^2f_6f_{16}^2}{f_1f_8}. \tag{3.28}$$

In view of (2.16) and (3.28),

$$\begin{aligned}
 \sum_{n=0}^{\infty} T(1, 6, 9, 24; 6n + 3)q^n &= U_{2,1} \left( \sum_{n=0}^{\infty} T(1, 6, 9, 24; 3n)q^n \right) = U_{2,1} \left( \frac{f_3f_4^2f_6f_{16}^2}{f_1f_8} \right) \\
 &= \frac{f_2^2f_3f_8^2}{f_4} U_{2,1} \left( \frac{f_3}{f_1} \right) = \frac{f_2^2f_3^2f_4f_8f_{24}}{f_1^2f_{12}}. \tag{3.29}
 \end{aligned}$$

It follows from (2.17) and (3.29) that

$$\begin{aligned} \sum_{n=0}^{\infty} T(1, 6, 9, 24; 12n + 3)q^n &= U_{2,0} \left( \sum_{n=0}^{\infty} T(1, 6, 9, 24; 6n + 3)q^n \right) = U_{2,0} \left( \frac{f_2^2 f_3^2 f_4 f_8 f_{24}}{f_1^2 f_{12}} \right) \\ &= \frac{f_1^2 f_2 f_4 f_{12}}{f_6} U_{2,0} \left( \frac{f_3^2}{f_1^2} \right) = \frac{f_2^5 f_3 f_6}{f_1^3}. \end{aligned} \quad (3.30)$$

Based on (2.13) and (3.30),

$$\begin{aligned} \sum_{n=0}^{\infty} T(1, 6, 9, 24; 24n + 15)q^n &= U_{2,1} \left( \sum_{n=0}^{\infty} T(1, 6, 9, 24; 12n + 3)q^n \right) = U_{2,1} \left( \frac{f_2^5 f_3 f_6}{f_1^3} \right) \\ &= f_1^5 f_3 U_{2,1} \left( \frac{f_3}{f_1^3} \right) = 3 \frac{f_2^2 f_3^2 f_6^2}{f_1^2}. \end{aligned} \quad (3.31)$$

Combining (2.2), (2.3), (3.13) and (3.31) yields

$$\begin{aligned} &12 \sum_{n=0}^{\infty} T(1, 6, 9, 24; 24n + 15)q^n - \sum_{n=0}^{\infty} N(1, 6, 9, 24; 48n + 40)q^n \\ &= 36 \frac{f_2^2 f_3^2 f_6^2}{f_1^2} - 24\psi(q^2)^2 \varphi(q^3) \frac{f_2^2 f_3 f_{12}}{f_1 f_4 f_6} - 12\varphi(q)^2 \psi(q^6) \frac{f_4 f_6^2}{f_2 f_{12}} = 12F_3(q), \end{aligned} \quad (3.32)$$

where

$$F_3(q) = 3 \frac{f_2^2 f_3^2 f_6^2}{f_1^2} - 2 \frac{f_4^3 f_6^4}{f_1 f_3 f_{12}} - \frac{f_2^9 f_6 f_{12}}{f_1^4 f_4^3}. \quad (3.33)$$

Substituting (2.21)–(2.26) into (3.33) yields

$$F_3(q) = 0. \quad (3.34)$$

Therefore,

$$12 \sum_{n=0}^{\infty} T(1, 6, 9, 24; 24n + 15)q^n = \sum_{n=0}^{\infty} N(1, 6, 9, 24; 48n + 40)q^n. \quad (3.35)$$

Identity (3.2) follows from (3.35). This completes the proof.  $\square$

**Acknowledgement.** The authors cordially thank the anonymous referee for his/her helpful comments. This work was supported by the National Science Foundation of China (no. 11971203) and the Natural Science Foundation of Jiangsu Province of China (no. BK20180044).

## References

- [1] S. ALACA, K. S. WILLIAMS, The number of representations of a positive integer by certain octonary quadratic forms, *Funct. Approx. Comment. Math.*, **43**, 45–54 (2010).
- [2] N. D. BARUAH, M. KAUR, M. KIM, B. KWEONOH, Proofs of some conjectures by Z. -H. Sun on relations between sums of squares and sums of triangular numbers, *Indian J. Pure Appl. Math.*, **51**, 11–38 (2020).
- [3] B. C. BERNDT, *Ramanujan's Notebooks, Part III*, Springer, New York, 1991.
- [4] M. D. HIRSCHHORN, *The Power of  $q$* , Springer, 2017.
- [5] Z. H. SUN, Some relations between  $t(a, b, c, d; n)$  and  $N(a, b, c, d; n)$ , *Acta Arith.*, **175**, 169–189 (2016).
- [6] Z. H. SUN, Ramanujan's theta functions and sums of triangular numbers, *Int. J. Number Theory*, **15**, 969–989 (2019).
- [7] Z. H. SUN, The number of representations of  $n$  as a linear combination of triangular numbers, *Int. J. Number Theory*, **15**, 1191–1218 (2019).
- [8] Z. H. SUN, Ramanujan's theta functions and linear combinations of four triangular numbers, submitted (arXiv:1812.01109v4).
- [9] M. WANG, Z. H. SUN, On the number of representations of  $n$  as a linear combination of four triangular numbers II, *Int. J. Number Theory*, **13**, 593–617 (2017).
- [10] E. X. W. XIA, Y. ZHANG, Proofs of some conjectures of Sun on the relations between sums of squares and sums of triangular numbers, *Int. J. Number Theory*, **15**, 189–212 (2019).
- [11] E. X. W. XIA, Z. X. ZHONG, Proofs of some conjectures of Sun on the relations between  $N(a, b, c, d; n)$  and  $t(a, b, c, d; n)$ , *J. Math. Anal. Appl.*, **463**, 1–18 (2018).

Received: 04.07.2020

Revised: 05.07.2021

Accepted: 06.07.2021

<sup>(1)</sup>School of Mathematical Sciences, Suzhou University of Science and Technology, Suzhou, 215009, Jiangsu Province, P.R. China

E-mail: yaoxiangmei@163.com

<sup>(2)</sup> School of Mathematical Sciences, Jiangsu University, Jiangsu, Zhenjiang 212013, P. R. China

E-mail: houqfang@163.com

<sup>(3)</sup> School of Mathematical Sciences, Jiangsu University, Jiangsu, Zhenjiang 212013, P. R. China

E-mail: free1002@126.com

<sup>(4)</sup> School of Mathematical Sciences, Jiangsu University, Jiangsu, Zhenjiang 212013, P. R. China

E-mail: yzyzyxy@163.com